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13 23
total 95
cap 100
3 12
15 T6
1 3.2
1
3.3
3.3
[tem\Period T1 T2
i 27 20
12 45 60
13 23 0
total 95 80
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ltem\Period Tl T2 T3 T4 T5 T6 c

n 27 20 40 27 12 24 100 2

12 45 72 0 20 4 22 200 5

13 23 0 2 21 35 41 300 10

total 95 92 42 68 51 87

cap 100 100 100 100 100 100
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35
35 3 , 1
lterrAPeriod Tl T2 T3 T4 T5 16 c
1 27 20 40 27 12 24 100 2
2 45 72 0 20 4 22 200 5
13 25 0 0 21 35 41 300 10

total 97 92 40 68 51 87
cap 100 100 100 100 100 100
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3.6
lterrAPeriod Tl T2 T3 T4 T5 T6 C
1 27 20 79 0 0 24 100 2
2 45 72 0 24 0 22 200 5
13 25 0 0 2 35 4 300 10

total 97 92 79 45 35 87  Total Cost = 2622
cap 100 100 100 100 100 100

2622
3.2
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3.6
3.6.1
3
3 6 4 6
5 10
3.6.2
(Optimal - solution) Branch and hbound
approach CPLEX
(%Difference)
WD ifference = HeUI'IStICSOH,IFIOH - Opt.lm alSolution X 100%
OptimalSolution ,
3.7 39
3.7 3 6
Computational Time (CPU sec.)
No. Optimal Sol. Heuristic Sol. Difference(%) B&B Approach Heuristic
1 11105.150 11105.150 0.000 0.030 0.020
2 8132.140 8203.580 0.878 0.050 0.020
3 8913.570 9023.370 1.232 0.050 0.020
4 13316.260 13331.200 0.112 0.050 0.020

5 10687.470 10687.470 0.000 0.050 0.020



No.

10

No.

10

No.

Optimal Sol.
10595.670
10994.370
6670.920
6400.390
8371.510

38

Optimal Sol.

11156.910
9423.120
7657.550
10406.180
8820.360
9965.760
5055.870
11436.070
13711.010
16784.930

39

Optimal Sol.

17605.050
27188.040
26244.250
26299.520

Heuristic Sol.

10873.490
10994.370
6670.920
6487.240
8610.180

Average

Heuristic Sol
11156.910
9423.120
7657.550
10406.180
8832.870
10200.390
5122.890
11530.310
13711.010
16784.930

Average

Heuristic Sol.

18268.210
27188.040
26309.020
26649.380

Difference(%)
2.622
0.000
0.000
1.357
2.851
0.905

: Difference(%)
0.000
0.000
0.000
0.000
0.142
2.354
1.326
0.824
0.000
0.000
0.465

5 10

Difference(%)
3.767
0.000
0.247
1.330

6'145
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Computational Time (CPU sec.)

B&B Approach
0.050
0.050
0.030
0.060
0.050
0.047

Heuristic

0.020
0.020
0.020
0.020
0.020
0.020

Computational Time (CPU sec.)

B&B Approach
0.030
0.040
0.080
0.030
0.030
0.080
0.090
0.040
0.030
0.040
0.049

Heuristic
0.021
0.020
0.020
0.020
0.020
0.020
0.020
0.020
0.020
0.020
0.020

Computational Time (CPU sec.)

B&B Approach
0.130
0.100
0.210
0.120

Heuristic
0.040
0.040
0.040
0.040



No. Optimal Sol. Heuristic Sol.
5 21669.500 21904.260
6 23499.060 23499.060
7 20033.840 20033.840
8 21744.860 21744.860
9 30236.830 30576.850
10 29658.200 29768.360
Average
3.6.3
3
3.10

ltems x Periods %Average Difference

3x6 0.905
4x6 0.465
5x10 0.792

bound approach

0.905%
bound approach

37

36

Computational Time (CPU sec.)

Difference(%) B&B Approach Heuristic
1.083 0.170 0.040
0.000 0.060 0.030
0.000 0.120 0.040
0.000 0.060 0.030
1.125 0.070 0.040
0.371 0.150 0.040
0.792 0.119 0.038

3.10

Average Computational Time (CPU sec.)

B&B Approach Heuristic
0.047 0.020
0.049 0.020
0.119 0.038
Branch and

(Optimal * solution)

Branch and



Branch and bound approach

0.905%

37
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